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1) Balance the following equations:
Na + Hzo = H2 + NaOH
C3H60 + 02 = C02 + Hzo
Ca(OH)2 + H2504 = CaSO4 + Hzo

2) Fill in name or formula as appropriate.

Agl CrOs3

N,>Oy4 sulfur hexafluoride
Si0, CCly

iron (II) sulfide ferrous sulfate
Al,03 strontium iodate
lithium carbonate NaOCl

boron trichloride CaCO3
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MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.
1) The charge on the manganese in the salt MnF3 is . 1)
A) +1 B) -1 Q)2 D) -2 E) 43
2) The correct name for HC1O2 is . 2)
A) perchloric acid
B) chloric acid
C) hypochlorous acid

D) hypychloric acid
E) chlorous acid

3) Which isotope has 45 neutrons? 3)
A) 80Ky B) 80Br C) 78se D) 34ql E) 103Rh
36 35 34 17 45
4) The element X has three naturally occurring isotopes. The masses (amu) and % abundances of 4)
the isotopes are given in the table below. The average atomic mass of the element is
amu.
Isotope | Abundance | Mass
221x 74.22 220.9
220x 12.78 220.0
218x 13.00 218.1
A) 219.7 B) 220.4 C) 22042 D) 218.5 E) 221.0
5) Which formula/name pair is incorrect? 5)
A) FeSO4 iron(II) sulfate
B) Fe2(SO3)3  iron(IIl) sulfite
C) FeS iron(II) sulfide
D) FeSO3 iron(II) sulfite

E) Fe2(SO4)3  iron(IlI) sulfide

6) What is the mass % of carbon in dimethylsulfoxide (CoHgSO)? 6)
A) 60.0 B) 20.6 C) 30.7 D) 7.74 E) 79.8
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